—PaspgenncrnoBaHa

rpynnbi?

CraaraeMoey, MHOKUTC]Ib,
3HAYCHME, TPONU3BCIICHNS,
cjlaraeMo¢€y MHOXKHMTECIIby 3HAYCHUE
CYMMEI.



~CpaBHU Bblpa)XeHus

3HA4YEHNHA

30+15 15+30
80+8 8+80
12+56 56+12



Hawn LIHee e

% Hee
~ BblpaXeHue:

3+3+3+3+3=
4+4+44+4=
-
T+7+7=



CpaBHUTb BblipaXeHune:

6+6+6+6+6 * 6x%5
4+4+4 * 4%3



/

Pa3noxun npon3segeHmne Ha
CYMMbI OQMHAKOBbIX ClriaraemMbix:

9x4= 9+9+9+9
8x5= 8+8+8+8+8
6x3= 6+6+6
3x2= 3+3



oynTan npaBUIbH

cJ1araeMbIX CYMMbI
Ot IEPeCTAaHOBKH 3HAYCHHUC HE€ MCHACTCH

MHOKHUTEJIeN Npou3BeIeHUS



